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I v mwn: liability of 1mw for losses incurred while — or as a result of — moving the barrel of wine
a  If: the owner didn’t designate a specific place and it broke while moving —
i If: he was moving it for his own purposes — liable
ii  If: he was moving it for the sake of the 117pa — exempt
iii  If, however: it broke after he had moved it — in either case, he is exempt
b  If: the owner did designate a specific place and it broke, whether while moving or afterwards
i If: he was moving it for his own purposes — liable
ii  If: he was moving it for the sake of the 117pa — exempt
I Analysis of authorship
a  Background: YrRynw "1 and y™ disagreed if there is a requirement of 0’9»a nyT when returning a n%m ("1 — no need)
b  Analysis #1 — 3nv "1 (who maintains that nn»1n always implies that it was returned to its proper place)
i xwn: follows 79, as the minute he returns the barrel to its place, it's considered “returned” and he is 1108
1 Challenge: if it follows »", he should be exempt even if the owner had designated a spot
2 Answer: indeed, and we have an example of “1t & 1t RY” here
ii ~ Rov follows y™, as he remains liable even after returning it to the place
1 Challenge: if it follows y™), he should be liable even if the owner hadn’t designated a spot
2 Answer: indeed, and we have another example of “¥ q& 11 85"
iii  Resolution: “split” mwn, (janv "1’s offer of a reward to someone who could resolve mwn according to 1 authority)
¢ Analysis #2 — nww ' 27 - all follows SRynw’
i Rwn - he returned it to the proper place; 820 — he returned it to an improper place
1 127 (presented by Rar 191 2py» '7): he picked it up in order to steal it
2 127 (presented by Rar 11 ym "1): he picked it up in order to use it
(a) Explanation of disagreement: whether 1 mn»>w, which would place the item under watch of a1mw for full
liability even in case of ponR, can only be applied if there is a real deficiency to the 111pa
(i) ®arA7113pY 71— 7 MNYoW demands a pon > the only liability w/o on is nbm
(if) ®ar9271m 7 -7 MYY demands no pyon = liability is possible for T mnY>w w/o pron
it Challenge (nww “7): mwn doesn’t refer to him “taking” it, rather “moving” it
1 Rather (nyw "): he moved the barrel in order to have birds sit atop it
(a) And:nym R5w YR (which he is, as he “borrowed” it without owner’s permission) is a 191
I Full exposition of 7 mn9w and the demand of pion to qualify as 7 mNYYw to generate liability for all ponr
a  nY/a1 disagree about it
i Inference: 27 maintains there must be nion (from his read of liability of shepherd for sheep taken by wolves etc.)
ii  Implication: " maintains that there is no need for j»yon
1 Reason (’K172 72 2077 77): D MmYw of V"W is unnecessary (inferred from n"w via 1p) >even w/o pon
2 Dissent (7217 73): 7 mnHw of W is similar to that of n"w;
(a) Meaning (as per ¥™7): defeat 1"p — n"v is more severe — he’ll pay 'm *1/993 if he claims nan (and is lying)
(b) Counter: »®1n1 12 'OV "1 — NV is still less severe; 197 is a more significant liability than nyawa %9
iii 427 neither n"w (v. 1) nor " (v. 2) are necessary — both can be inferred from SR via v'p
1 Rather: they are both written to expand scope of T mnow
(a) p70m 7927% AR T MINPSY. as per Y above
(b) Negation of 17. liability even if the owner is with the 1mw (unlike 5x1v)
2 27 both are necessary
(a) tonegate 7 (as per [b] above)
(b) toparallel v.1tov.2—justasv.2isan oath, sov.1 (..293pn) is for an oath
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